2 0 2 24FE NoSHERMHS50M60M70mRiEGzE 18 [SRHEEMNE]

NERELER 25 . ERRELERT-FIU-% FE: NPOZEA BRINEF—FIU-1Hs 2022/10/30F34E
F8 . #EEhT7-FIU-He
«BBSBF» 1/2
% m BangeE s 50mQ@|50mQ)| @&t | 10 | X £
1|EaA B— |[@RIE |1U3—X 262 | 250 512| 3] 2
2 |58 &= BB (BAEEhT—FI-He 233 | 259 492 8| 2
«CPLzF»
E ] BhER R P & 50mQ®|50mQ)| BasT| 10 | X 3
1A Ee BRNE BEE=75) 330 | 327| 657]| 31]15
2 | TBR &5 BEE | ()k) A—-IIL-IL* 320 322 651 28| 9
3[EE —= B8 [BaEEhT—F1-He 288 | 310[ 598 13| 8
4 |[IXR & BRE | EEAX—FI-He 264 | 288 552 6| O
«<CPBF»
Z m BaEngeE s 50mQ@|50mQ)| B&st| 10 | X £
1|fE2K =FZ HR#HE |t/ X 345 351 696 | 49|24
2 |hA A0S BREP  |HRatUd- 348 | 334| 682 39|14
3 |kt BA* #HE [HtEAX7—FIU-He 335| 338 673 3211
4 |1k —Rk ER#E |HESX7-FIU-Hs 340 331 671 | 34| 9
5| KH BA BRNE (BE¥=757 342 328 670 36|17
6 [=H iLw Ry |EHAX—FI)— e 333 | 336| 669 36| 8
7 |fER {@KER HR)E | BEXT7-FIV-iRs 327 332 659 | 25| 6
8 | KB —EB RRE  |HEAX7—FIV-HE 328 | 325 653 21| 5|102%:21,X%:5
9 |[# =& B2 | EBEE7—F1)—tme] 328 | 325| 653 | 21| 4 [108%:21,XEK:4
10| KL =5 RRE | BX/—FI)-Ha* 331 | 316| 647| 25| 6
TS A e EEes/—F1)—me] 321 | 316 637 19| 7
12|71 R e 1S —X 307 | 316 623 19| 3
13| KE FH* ERE | BEX7-FIU-ma* 287 297 584 | 12| 4
14|z —==* B |(BEghr—FIi)-He 280 | 281 61| 7| 2
15[=iE A BR# |BEfXT7-FiU-Ha 0 0 0 0| O
«RC60%zF>»
% | BEh R P Is 60mQO[60mQ| B&sT| 10 | X £
I EEEES BRES | \LFh/—FI-a 299 | 300| 599 13| 5
«RC605BF>»
N Gl 60mO[60m[ W& 10 | X "=
1[|BA A0 S |BAEE ) —FI)— e 271 | 266| 537| 6] 4
2 |%@H 2 BHRE |N\EFHI-FI-HE 266 | 266 532 9| 5
«RCE&F»
2 A FhanRT= 7= 70m@[70mQ[ BA&5T| 10 | X 3
N E D ESE BAGRB AZ 323 | 322| 645]| 23| 8
2 |=JF @on  |FE FIKF 206 | 296 592 8| 1
3 |BtE E HR)R |[EaEER 291 298 5890 11| 2
4 |t 4% Bl | AEX7—FI-Ha 205 | 287 582 9 2
5 [BER ABRE St BEXFE 297 283 580 | 12| 4
6 |[BEH =i |7 BlER AT 281 | 296| 577]| 11] 2
7 | AN FER #HR)| B #WEFEEEFER 282 291 573 12| 2
8 [A E£H 35 SREAT 273 | 299 572 11| 1
9 [BK M BREd | LPX7—FI)—He 281 275| 556 6| O
10882 EF BRES  |\EFm—FI-BE 270 | 267 | 537 8| 3
11|EA &5 BRE [ RBAT B Ee S TR 222 | 252 474 4| 1
12|45 HFIS FEE [BHREVSHEEER 260 207 | 467 2] 1
13(RAEF MEm=F HR)B RS 210 256 | 466 8| 4
14(mH EiZ HR)B [ HEAEMIEAEREER 206 246 | 452 2] 1
15 LlF T2 B (MR EREE7—F1U-me 238 210| 448 2| 1
16|77 B FEE |[BEEVENEERR 208 | 231] 439 3| 0
17| L &% FEE |FERFSEIR 190 | 214| 404| 1] 0O
18| ARH FHF |ER# |HESX7-FI)-Hs 191 207 398 31 1
19(tRHEH BEZ2 FEE [BFREVSHEEER 213 181 394 31 0
20|74 288 BEE [FREEZSHESEFER 171 207 378 1 0
21| TEH BB |[AR/E [RBATIBiiEe SR 0 0 0| 0| O|x®
22|83 2F BEE [FLEA TR e S TR 0 0 o ol olx®




2 0 2 24FE No5#REMH50m60m70mRiERE

1588 [SAHEEKIE]

NERELER 25 . ERRELERT-FIU-% FE: NPOZEA BRINEF—FIU-1Hs 2022/10/30F34E
8¢ WARMV-FIU-1Bs

«RCB+F» 2/2
% m BangeE o m 70mQ@[70mQ| B&et| 10 | X £

1|kE & AR E [t hs 341 326 667 | 33|12

2 (BBH AKX FiE HAKBEKXZE 314 322 636 20| 7

3 |#a K X R [WAEmV-F1)-Hs 313 318 631 18| 7

4 | Kz —a =EE |ZRE7-FIJ-EH 318 | 310| 628 18| 3

5 |AE Ath* FEE |TERPSZIREE 303 318 621 19| 5

6 [ 2 BRE [RBATNBIIEeE TR 309| 307 616] 19| 8

7 | &k B8 #HH)NE |7)3-X 305 306 611 | 16| 2

8 |RA #&F MR | EEEFAEBE 303 306 609 | 11| 4]|10&%:11

9 | KT 1EE RBRE | EBX7—FI-HE 299 | 310 609| 9o 3|10&%:9

10|E8 =% 35 iVE PN 303 297 600[ 12| 4

11|77 #Hi— FE N3 307 | 292 599 | 11| 6 |1082K:11,X2X:6 RIBLL

11|50 A BEE |BEEYEREEFR 296 | 303| 599 | 11| 6|10&%:11,X&:6 RIEA

13|18E = BRES | MTVITAZT4 () 301 | 298| 599 11| 2 |102%:11,X%:2

14|iE = #HRNE | N\7-F1)-H93T 303| 294 597 10| 1

15|78 X HR/E [HHEZETEREFER 294 301 505| 11| 6

16|BAR A BnEd | LRX/—FI)-—pe 206 | 294 590| 8| 3

17|% B FE EBEEIKEF 298 289 587 | 12| 5 |10&%#:12

18|= #IE* RS WAEEmy-F1-ths 286 301 587 | 10| 3 |10&%#:10

19(Bd %EP FEE ([TERPESKR 298 276 574 6| 1

20(1L7c #83h F =R Ry 279 | 294 573 7| 6

21| B BeAT™ RBnEh | TREX —FIVme 271 | 301[ 572| 11| 4

22|45 =K MR EBAXECAEIEESEER 280 291 571 10| 3

23|#m@A BE e 1S —X 283 | 286 569| 8| 4

24 |FEH fhZ ERE |HESX7-FI-He 295 272 567 9| 4

25| BBl 85 BERE |BARIEAFEREZESR 273 293 566 | 10| 4

26|83 RED | —FI)— e 270 | 294 564 | 7| 1[|102%Kk:7/

27 |EHE M HR)E |HIIEEERESEER 269 295 564 5| 0[|10&%#4%:5

28 3EfE Kl RERE  |ERHRER 275 283 558 31 2

29|5E = E35] BRAY 264 | 284 548 4| 1

30|ME 1B BRE  (HHEG7—FI-He 276 | 271 547 10| 2

31|ER &7 HREs  |BHEm I —FI e 268 | 277 545| 7| 2

32| fERER |F5E IR=pN=3 268 | 275| 543 7| 4

33|/1E EE RBRES  |N\EFHI—FI-BE 256 | 286 542 8| 2

34itH 2R R | EEEEAEBE 271 270 541 10| 4

35|41 BEA BB [)\X7—F1U-557 267 | 273 540 8| 1

36|HO #Hen BEE |[=fR/—FI)—2A 267 | 263| 530 11| 3

37|3LE B FEE |[ER7-FIU—E= 269 | 258 527 8| o

38| Kk & E35] iVE PN 274 | 250| 524 5| 2

39|k B BEE [ RFEEERT—F1U—56 259 260 519 5| 0

40|FE FEA BHRE |N\EFHI-FI-HE 260 | 253 513 4| 1

415N & ) NE [/\NF7—F1U—75) 249 | 261| 510] 4] 1

DRTFE = FEE |[TERHESEER 264 245 509 41 2

43|18iE SRER e BIEEFKREF 257 243 500 5| 3

44 |{RE Kith RERE  |BARTEXRERIZHER 243 254 | 497 5/ 0

45[FK Z= BEE |BEEVERSEFR 245 246| 491 4| 0

46[ILH B— RmEd  |WHM ) —FI— e 215| 250 465| 4| 1

47|#AR & BEE [ RFEEERT—F1U—56 239 | 225( 464 3| 1

48 |HEE R HE/IR RESEFERY—-FIU-EB 236 226 | 462 2|1 0

49| BX BB [FLETHEB SR 223 | 234| 457 4| 2

50(%mE #lK BB [REFeEERT—FI1)-EB 203 224 | 427 ol O

51| WAED | E [P e sk —F1)—5p 222 | 192 414| 3] 1

52|pREF = HHE [REFESEERT—F1U—EB 180 | 147| 327 1] 1

53 |4t L& )12 | 2AEERER 0 0 o ol olx®

54(H+ &= BERE  |MEXT-FIV-Hs 0 0 0 0| O|xfE

55| KF B8x e AVE i = 0 0 0 0| O|xRE

56 |5k FEARER FEE [BREZSHEEER 0 0 0 0| O|xE




